
Multiplier des fractions mixtes négatives (C)

Nom: Date: Note:

Calculez chaque produit.

1.
5
6 × (−112) = × = = =

2. (−256) ×
1
3 = × =

3.
5
6 × 145 = × = = =

4. 115 × (−112) = × = = =

5. (−116) ×
1
2 = × =

6. 114 × (−112) = × = =

7. (−212) × 116 = × = =

8. (−212) ×
1
4 = × =

9.
2
5 × 156 = × = =

10. (−216) ×
1
6 = × =
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Multiplier des fractions mixtes négatives (C) Réponses

Nom: Date: Note:

Calculez chaque produit.

1.
5
6 × (−112) = 5

6 × (−32) = (−1512) = (−54) = (−114)

2. (−256) ×
1
3 = (−176 ) ×

1
3 = (−1718)

3.
5
6 × 145 = 5

6 ×
9
5 = 45

30 = 3
2 = 112

4. 115 × (−112) = 6
5 × (−32) = (−1810) = (−95) = (−145)

5. (−116) ×
1
2 = (−76) ×

1
2 = (− 7

12)

6. 114 × (−112) = 5
4 × (−32) = (−158 ) = (−178)

7. (−212) × 116 = (−52) ×
7
6 = (−3512) = (−21112)

8. (−212) ×
1
4 = (−52) ×

1
4 = (−58)

9.
2
5 × 156 = 2

5 ×
11
6 = 22

30 = 11
15

10. (−216) ×
1
6 = (−136 ) ×

1
6 = (−1336)
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